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2. Matrix and Matric  potential

f~a~z~d~~~snwa~  imbibant ~asw~71~l~~lnnFOUj~u~uWO~riVffq~"

nmdfrni~  0lfltJu  water potential UOJ imbibant, h=%-lWWR?dlTJ~4
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Y t
i

water potential of imbibition

Im
= matric potential

$
= pressure potential

&rs7iJ1  matrix I~b3~lud1ra::n1u  ~r-~q~~hfh water potential

64do4dUnc na&fia water potential ua4dl0R~RluttR~ water potential

of imbibition &water potential ~i.~~d~~~a~~~dln~l  water potential

of imbibition, matrix 4z’lz;d7uirngn27~  &n7Ia"$ M&I water potential

uo~dit~~alud&l#~n& water potential of imbibition, matrix qapJ7

47nAloar:muGtm~mV7F;l  water potential k4d04& ~Y;iiru  I ~ntwmwdupa~~u)

&I osmtkic potential wmd7fa~~7~4dlfh~Y;7  matric potential ua1G;rr-l

41ti&lt

Y Ua4dlfRsRlU  = \Yn+yp
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ym + yP = Yn + Yp
Y =

m %
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‘Semipermeable  membrane
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Yp+Y  =o
m

Yyp  = 4m

4 . 2  ms~nmawtjw

a~=~Jl0~lwdlsgdl  J14r# rg  uw ~-TIU%LU~~fl a (kinetic energy)



Y = Yp+ Y
m

Y =  0  (Y whniiu?iqnb)

Y =
m - 1 , 0 0 0  bars(y,ws\Iwk)

Yp = -Y
m

= -(-1,000)

= 1,000 bars

e1ngm Y =
yn + IP

Y Yallal~aFxil6  = (-600)  f 0

= -600 bar



Ym  + Y,  = -500 bar

LR’

Y t
m -1,000 bar

% = +l,OOO  - 600 bar

5 = + 400 bar

y~~dbn~anl~a~q~;t;(?=UI~~~~~~  r?i~&nluIun-mwi~~*f.l~ 400 bar

~'u?Ru~~611ul'lnnu~DU~U~R~~~~  500 bar A;rr4;lumrbfkhlApln
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